FE72RERABREMNFERR - BREK-HRHE (TH29F10A6E~108) K RESRELEREKS

(REHE=H0)

Nolmp | B | Ea | mE o ARE L PR e s g
1 100m | KIE K| BAK2 | 3 [10752(-05)| 5 |10743(+05)| X 0
2 400m | AR HXX| KBRAHR | 4| 47729 - 6 47”74 3
3 80om | =& @ | TSPKFS | 8 | 1’55782 - x 0
4 B F| 110mH |®=8% 7ov=——|EREHKEKS| 1 [13773(+09) - 4 | 13"65(+2.2) | 5
5 400mH |EE =AE| Ise Alab. | 2 | 51710 - 4 50”37 5
6 EEE | TEH HE| 2AFSIS5A - 2044 2m00 0
7 Mg |ZEE FME|J—ILFDL - 4 52m01 5
8 100m |#Exvwzoa®| A S2 2 110782(-0.6) 29”715(+1.2)| X 0
9-1 400m |HE KiE| BESE3S | 7| 49749 | x 0
o2 | DA 400mH |HE KiE| RESE3 | 2| 51796 - 3 51797 6
10 Eakk BmE % |BHEFESS - DNS 0 |FBATRO:SD
1 EERE |BEH BE|mEERES - 1 | 7m50(-05) | 8
2] gl 100 [fERK 8| axzamsm| 2 [10780+1.5)] 4 [10785(:02) x 0
13 EER | RA EH| RERS1 - 14 | 6m73(+02) | 0
14 110mJH |4 KJ| WES2 | 3 [13774020| 5 [13786(:08) x 0 | BmERES
15 | bE£E| 5000mW | T 1% BEHE3 - 20’ 46”61 6
16 EEB £ BT BRES2 - 14 1m95 0
17| B [ 4x100 | Ak KB A EH| 3| 40746 | 2| 39778 | 1 39”60 8
1 100m | @& &EZE| ESTELLE || 2 [11791(+06)| 2 |11"77(+0.5) 3 | 11784(+1.2) 6
2-1 400m | Jdt# F |BXAKFEK4| 1| 54756 - 1 53”71 8 BHC#H
22| FE | 800m | dtF F |BARAKFEKXR4| 1| 2705719 - 1 2'03"79 8
3 BESl B AF |mRERE=KXT - 13 3m60 0
4 B |[RA BB ERYUTT - 3 [12m90(+1.3)| 6
5 100m |[RR BE| NEFE2 | 2 [12724(-086)| 3 [12701(+1.1)| 7 | 12"26(-1.1) | 2 HCH
6 |V&A| 400m |8 HHE EEE3 [ 4| 55754 | 5| 56714 X 0
7 EMER | R #% | \EFE3 - 4 | Bm02(+1.7) | 5
8 100m |AE EF|dRXHMES1| 2 [12703¢+1.1)| 2 [11797+07) 4 | 12"15(-1.0) | 5
9 B 800m |[BET HE#| IEXF1 21214728 - 6 213”54 3
10 100mYH | IUFE #kF |BEFESE1| 1 |[13760(+1.2) - 1| 138752(+0.1) | 8 |A&#H-#HERH
1 At |BR wmaF| HEES1 - 6 12mo04 3
12 b E=E | B & | ®EES3 - 844 1m73 0.5
3 ax100mr| EEE-BE-KR-%H | 4] 46719 [ 1] 45732 | 1 45744 8
X & (12B5R% ) ' B o6 %3 18
B | Xi& |gmsRco | BE(%) &5 REHF 1 EAGR | DA 14
6% 2 215 82% 78 MR 1 (8) 4B 0
71| v 225 79% 431 HeEs 1 HiE 6
8H| ®Wh | 280 60% 258 HCH 4 - 8
9f| i | 290 58% 17.58m 7% 28
1ok| & | 285 55% 164 ERFR | DA 7
(&) B 19
XEH 2 118. 54 H& 0.5
SEH 2 72 54 - 8
SmiB s 10
& 8 1185




